SIGNATURE PAGE

RFQ# F-35-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	FM Generator Tinh.
Preparer's Name:	William Molway
Signature:	(PRINT)
Address:	35 PRAINT St.
	Canton MA 020W
Telephone No.:	781-828-0026 ext 113
Fax No.:	781-821-9391
E-Mail Address:	CMESPELL a Am generator. Com
	(This should be the email where Contracts would be sent)
Contact Person:	Collin Mespelli
FEIN:	
(Federal Employee ID)	

County of Monmouth REQUEST FOR BID

RFB must be received no later than:

For Delivery to:

---- This Is Not An Order ----



November 9, 2023 10:30AM

RFB# F-35-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

FURNISH MAJOR AND MINOR INSPECTIONS, LABOR AND PARTS FOR REPAIRS FOR GENERATORS AT VARIOUS MONMOUTH COUNTY LOCATIONS ON-CALL AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

VARIOUS LOCATIONS, IN MONMOUTH COUNTY

Deli	very Date: 1/1/2024-12/31/202	4		
ITEN	# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	NISH MAJOR AND MINOR INSPECTIONS FOR GENERATOR INTY DIVISION OF BUILDINGS AND GROUNDS	RS LOCATED AT VARIOUS LOCAT	IONS FOR THE MON	MOUTH
1	MAJOR INSPECTION, CATEGORY 1-9KW	5 EACH	175	1375
2	MAJOR INSPECTION, CATEGORY 10-20KW	9 EACH	330.56	2975
3	MAJOR INSPECTION, CATEGORY 25-50KW	9 EACH	377.78	3400
4	MAJOR INSPECTION, CATEGORY 55-95KW	16 EACH	435.44	6975
5	MAJOR INSPECTION, CATEGORY 100-200KW	7 EACH	539.79	3775
6	MAJOR INSPECTION, CATEGORY 225-500KW	6 EACH	1037.50	6725
7	MAJOR INSPECTION, CATEGORY 575-750KW	6 EACH	1400	8400
8	MAJOR INSPECTION, CATEGORY 800-1000KW	3 EACH	2116.67	(350
9	MAJOR INSPECTION, CATEGORY OVER 1500KW	1 EACH	Ulan	VLOO

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-35-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

FURNISH MAJOR AND MINOR INSPECTIONS, LABOR AND PARTS FOR REPAIRS FOR GENERATORS AT VARIOUS MONMOUTH COUNTY LOCATIONS ON-CALL AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	MINOR INSPECTION, CATEGORY 1-9KW	5 EACH	150	750
11	MINOR INSPECTION, CATEGORY 10-20KW	9 EACH	150	[356
12	MINOR INSPECTION, CATEGORY 25-50KW	9 EACH	150	1350
13	MINOR INSPECTION, CATEGORY 55-95KW	16 EACH	150	2400
14	MINOR INSPECTION, CATEGORY 100-200KW	7 EACH	150	1050
15	MINOR INSPECTION, CATEGORY 225-500KW	6 EACH	\50	900
16	MINOR INSPECTION , CATEGORY 575-750KW	6 EACH	150	960
17	MINOR INSPECTION , CATEGORY 800-1000KW	3 EACH	250	750
18	MINOR INSPECTION, CATEGORY OVER 1500KW	1 EACH	350	350
URN OCA	ISH AND DELIVER MAJOR INSPECTIONS, LABOR AND PARTIONS FOR THE MONMOUTH COUNTY SHERIFF'S OFFICE	TS FOR GENERAC GENERATOR	S LOCATED AT VAF	RIOUS
19	MAJOR INSPECTION, 35KW, SERIAL #2115654 - 1621 UNION AVENUE, HAZLET, NJ 07750	1 EACH	375	375

RFB# F-35-2024

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

FURNISH MAJOR AND MINOR INSPECTIONS, LABOR AND PARTS FOR REPAIRS FOR GENERATORS AT VARIOUS MONMOUTH COUNTY LOCATIONS ON-CALL AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

ITEN#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
20	MAJOR INSPECTION, 35KW, SERIAL #2118557 - 145 PORTLAND ROAD, HIGHLANDS, NJ 07732	1 EACH	375	375
21	MAJOR INSPECTION, 35KW, SERIAL #2112799 - 34 SCHOOLHOUSE ROAD, CLARKSBURG, NJ 08510	1 EACH	375	375
22	MAJOR INSPECTION, 35KW, SERIAL #2115599 - 2350 HOSPITAL ROAD, ALLENWOOD, NJ 08720	1 EACH	375	375
23	MAJOR INSPECTION, 35KW, SERIAL #2115600 - 231 ROUTE 539, CREAM RIDGE, NJ 08514	1 EACH	375	37\$
24	MAJOR INSPECTION, 35KW, SERIAL #2115640 - 690 ROUTE 520, MARLBORO, NJ 07746	1 EACH	375	37\$
25	MAJOR INSPECTION, 35KW, SERIAL #2118109 - JCPL	1 EACH	375	375
26	MAJOR INSPECTION, 50KW, SERIAL #8220537 - NEPTUNE	1 EACH	900	400
27	MAJOR INSPECTION, 35KW, SERIAL #8242116 - FORT MONMOUTH	1 EACH	375	375
28	MAJOR INSPECTION, 35KW, SERIAL #3000667666 -120 ROUTE 522, MANALAPAN, NJ 07726	1 EACH	375	375
29	MAJOR INSPECTION, 45KW, SERIAL #3010481664, FORT MONMOUTH	1 EACH	400	400
	MAJOR INSPECTION, 75KW, SERIAL #1410868, FORT MONMOUTH	1 EACH	475	475

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-35-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

FURNISH MAJOR AND MINOR INSPECTIONS, LABOR AND PARTS FOR REPAIRS FOR GENERATORS AT VARIOUS MONMOUTH COUNTY LOCATIONS ON-CALL AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL **OPTIONS**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
31	MAJOR INSPECTION, 75KW, SERIAL #1410870, FORT MONMOUTH	1 EACH	475	475
ADDIT	IONAL WORK			
32	LABOR RATES - HOURLY LABOR REPAIR RATE - REGULAR TIME MONDAY - FRIDAY 8:00 AM-5:00 PM	60 EACH	145	8760
33	LABOR RATES - HOURLY LABOR REPAIR RATE - OVERTIME MONDAY - FRIDAY 5:00 PM-8:00 AM AND WEEKENDS	40 EACH	217.50	b700
34	MATERIALS/SUPPLIES:	-		
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED PARTS AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$15,000.00			
	LESS DISCOUNT OF% OFF (IF ANY)			
	NET COST TO COUNTY (ESTIMATED) \$*			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT AS AN ALLOWANCE FOR PARTS, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT			15,000

00.00 H